SNS COLLEGE OF ENGINEERING
Coimbatore — 641 107

PUZZLES

Find the missing Number?

ANSWER: 2

2. If A'is substituted by 4, B by 3, C by 2, D by 4, E by 3, F by 2 and so on, then what will be
total of the numerical values of the letters of the word SICK?

ANSWER: 11

3. Arrange four nines(9) and a one(1) and only one mathematical symbol to make it equal
t0100 ?

ANSWER: 100

4.find the missing number

=
w
w

ANSWER:25
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5. How many times can you subtract 10 from 1007?

ANSWER: 1 Time

6. Replace each letter for a unique digit so that the equation is correct
(J+ O+ I+N+T)> =JOINT

ANSWER: 19683

7. solve the puzzle

Q=72
8 = 56
7 =42
6 =30
5=20
3=7?

ANSWER: 6

ANSWER: 144

9.find the missing number

5 40 8
30 24
6 2 3

ANSWER: 18.
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